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)
X

0
>

80.08

I3

50.07
0.06
0.05
0.04

=
(5]

Ratio

S
0.09

0.02

0.1

0.03

0.01

.................................

..................................

.....................................
..................................
111 111

1Q

510 15 20
TP dxy (cm)

dz

0
>

fficiency

(5]

Ratio

—a— D
—— D
—— D
—— D
—— D

|V|_or|?:|_na| Step2_tthar-phase I-mewgeom
M”mkFit_step2_ttbar-phasel-newgeom
M~angle_step2_ttbar-phasel-newgeom
M~fast_step2 ttbar-phasel-newgeom

0.5
0.45
0.4
0.35
0.3
0.25
0.2
0.15
0.1
0.05

M~ pixelCPEGEeneric_step2 ttbar-phasel-newgeom

.....................................

1

0.8F

0.6F

30
TP dz (cm)




	Contents
	Page 1


